ASSEMBLY INSTRUCTION
2528-64/2528-64G/2528-64L.  DINING TABLE

PART LIST:
HARDWARE LIST
A Bolt @5/16"x1" 24 PCS
B Bolt &3/8"x4" 4 PCS
C (1] Spring Washer @5/16" 24 PCS
D 0 Flat Washer @5/16"x@23mm | 24 PCS
m i "
E E E E (4] Spring Washer @3/8 4 PCS
F 0 Flat Washer @3/8"x@23mm | 4 PCS
.H,m._.wrw top Table glass Ta HW mom G J L-ALLEN KEY 5mm 1PC
pe Ipc P HI =9 L-ALLEN KEY 6mm 1PC
I 0 Cover 16 PCS
STEP 3 STEP 4 COMPLETED

carpeted or padded surface.
(2) Tighten the leg insert with bolt and washer.

(3) Align the table legs to the leg insert and tighten with bolt and washer.
(4) Insert the glass to the center of the table top carefully.




